Notes Answers


Chapter 12 Information for Decision Making
Answer 1

(a)
Breakeven number of units
	
	$

	Materials
	
12

	Labour
	
35

	Variable overheads
	
40

	Distribution
	
2

	Total variable cost
	
89

	Selling price
	
129

	Unit contribution
	
40


	
	$

	Factory
	
120,000

	Selling & distribution (after excluding variable element)
	
140,000

	Administration
	
80,000

	Total fixed cost
	
340,000


BEP = Total fixed costs/Unit contribution = 340,000/40 = 8,500 units.

(b)
Sales revenue ( Target profit $40,000

	
	$

	Total fixed costs
	
340,000

	Profit required
	
40,000

	Total contribution required
	
380,000


Total sales units = 380,000/40 = 9,500 units

Total revenue required

= 9,500 x $129

=$1,225,500
(c) (i) Profit if 9,500 units sold

	
	$

	Total contribution
	
380,000

	Less: Fixed costs
	
340,000

	Profit (as (b) above)
	
40,000


(c) (ii) If the company buys in the product

	
	$

	Unavoidable fixed costs
	
197,500

	Profit required
	
40,000

	Minimum total contribution required
	
237,500


Minimum unit contribution required = 237,500/9,500 = $25 per unit

	
	$

	Selling price
	
129

	Less: variable selling cost
	
2

	Contribution required
	
25

	Maximum price to company
	
102


Answer 2
(a)

Sales revenue = $30 × 1,600,000 = $48,000,000 for each customer type.

(Note: The total number of parts is the average order size times the number of sales orders.)

Thus, the total customer-related activity costs are split equally:

The profitability of each category is calculated as follows:

	
	
	$

	Sales revenue
	
	48,000,000

	Less: Non-customer-related cost ($20 × 1,600,000)
	
	(32,000,000)

	Customer-related activity costs
	
	(11,800,000)

	Customer profitability
	
	4,200,000


This profitability measure is inappropriate because the customer-related costs are assigned using revenues, a driver that is not causally related to the customer related activity costs. This approach may actually have one set of customers subsidizing the other.


(5 marks)

(b)

First, calculate the activity rates for assigning costs to customers:

Processing sales orders: $4,400,000 ÷ 8,800 = $500 per order

Scheduling production: $2,400,000 ÷ 8,000 = $300 per scheduling hour

Setting up equipment: $7,200,000 ÷ 6,000 = $1,200 per setup

Inspecting batches: $9,600,000 ÷ 6,000 = $1,600 per inspection

Next, assign the costs to the customers (those who place frequent orders and those who place infrequent orders):

	
	Frequent
	Infrequent

	Processing sales order:
	$
	$

	$500 × 8,000
	4,000,000
	

	$500 × 800
	
	400,000

	Scheduling production:
	
	

	$300 × 7,000
	2,100,000
	

	$300 × 1,000
	
	300,000

	Setting up equipment
	
	

	$1,200 × 5,000
	6,000,000
	

	$1,200 × 1,000
	
	1,200,000

	Inspecting batches:
	
	

	$1,600 × 5,000
	8,000,000
	

	$1,600 × 1,000
	
	1,600,000

	Total customer cost
	20,100,000
	3,500,000


Profitability:

	
	Frequent
	Infrequent

	
	$
	$

	Sales revenue
	48,000,000
	48,000,000

	Less: Other costs
	(32,000,000)
	(32,000,000)

	Less: Customer-related costs
	(20,100,000)
	(3,500,000)

	Customer profit
	(4,100,000)
	12,500,000


This outcome reveals that customers who place smaller, more frequent orders are not profitable. Action must be taken to make this segment profitable, or this category of customers could be dropped. One possibility is to impose a charge for orders below a certain size, thus reducing the demands on the four customer-related activities with a subsequent reduction in cost. Another possibility is to offer quantity discounts to encourage larger orders.


(11 marks)
(c)

Value-added activities increase the worth of a product or service to the consumer. Performing any task required for production (adding materials, blending, moulding, assembling, etc.) is an example of a value-added activity.

Non-value-added activities increase the time or task spent on a product or service but do not increase its worth to the consumer. Moving partially completed units of inventory, storing those parts, quality inspections, and the holding of parts waiting to be worked on are examples of non-value-added activities.


(4 marks)
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